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1 210 ﬁaas EE/J‘ Hhom £RINER
2 185 1$#009 PN dit] ﬁ‘f*ﬁd\—ﬂ
3 179 B MEE Hho £FINER
4 160 $2229 PN i) ‘Fr“/l\"?'?c
4 160 ya BT BER /N
4 160 YA BELlL T BT RNV
7 156 $2223 PN TE/NMNER
8 145 2130 E /N
9 137 1$H083% K& FHE/NER
10 135 h—u 2Hm BN
11 133 nk LU Th k2R /DA
12 130 MK 7K FFHT AR /N AR
12 130 ma BElLmH g E VRS
12 130 MA B LU g /NVERR
15 126 t-y f2Hm BINER
16 125 KE BFE Hhoth E£EIINER
17 124 BX KB Hhom EEINER
18 122 P &H 7K FFHT ,uttﬁ/ VAR
18 122 t-a BHT BEINERR
20 121 HULVEE Hhoth = AR/
21 120 S.R Hhoh LB /IR
21 120 LS 7K FFHT AR /NERR
21 120 MR INVET AN BN
21 120 km BElLmH g /INVERR
21 120 KM &L AR/ INER
21 120 2106 HET HEmR/INER
21 120 m—t 2Hm BINER
28 119 K K Hhom /AR
29 118 su TG g E NV
29 118 SuU B LT BERE/NER
31 115 £F KR Hhom EEINER
31 115 TK RFH B R/
33 114 2222 % i AT EINE A
33 114 MY INET A BN R
33 114 N-R = [EfT MNEINERR
36 113 =t Hhom = R/
37 112 55 RiE Hhom EEINER
37 112 2117 T ES/hER
37 112 2121 T ES/hER
40 111 WY K FFHT AR /N AR
40 111 2303 24l ES/MER
42 110 il ZE Hhomt E£EINER
42 110 MI B LT FHRE/NERR
42 110 TR 2Hm B/
42 110 411 2Hm HE/NER
42 110 TE el HEPRNER
47 109 YS 7K EZFHT NENEE
47 109 14002 PN i) HHEE/NER
47 109 240093 PN i) HHEE/NER
47 109 vk B LT BESE/DNER
47 109 M.U 2Hm RRAE R /NER
52 108 10 #5:Ih SN
53 107 M.H Hhomh BN ER
53 107 ik RF™H KA /NFER
53 107 K-Y #5:Ih fE TE /N
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53 107 AM 12Hh TFIR/NFER
53 107 M.N 2Hm RRAZ/INVER
58 106 HH INET TN
58 106 Y.S =M RGN
58 106 ErE2FE 1 — % F10 HET EEHBE/INFR
58 106 110 2Hm HE/DNER
58 106 k-y 2Hm EINER
58 106 2228 2Hm iﬁE/J\'—TJ&
58 106 K. R = ST BN
65 105 K.M Hhom FHINER
65 105 2124 tREITh EE/NER
65 105 2316 tREITh EE/ER
65 105 1PpLy oAl KEF/DNFR
65 105 F-A #5Th TR/
65 105 Y-M #5Th TR/
65 105 13 5 Th SLEINER
65 105 2113 HET ;51 5 /N
73 104 IK 7K FFHT INpAlINEE 5
73 104 SA 7K FFHT ~'AEJ/J\E?'~§
73 104 20129 B LU AR/ INER
73 104 24 5 Th SMEFINER
73 104 ON f2Hm JB/NERR
73 104 RT i=Eadit] FRAE R /INER
73 104 2113 2Hm BEEINFER
73 104 K-M = [EHAT MNEINERR
81 103 H.S Hhoh LB /IR
81 103 M.T Hhoh LB /IR
81 103 M.S JKEZFHET SE/DNER
81 103 2411 T ES/hER
81 103 15004 XEH HHE/NER
81 103 AK RFETTH A=
81 103 2102 HEW HEmR/NMNER
81 103 2309 HEH HEE/NER
81 103 I A 2HTh BINER
90 102 KHEH FE#HE Hhom EEINER
90 102 E¥H LiE Hhom EEINER
90 102 JE)| = Hhom EEINER
90 102 A4 A201 INETH A2 BA/NER
90 102 HK AT B R /AR
90 102 2110 HEH HER/NER
90 102 K.F 2Hm RRAEEINER
90 102 h.a f2Hm REINERR
90 102 2112 2Hm HREE/NMNER
99 101 f+E Im Hhomh E£EINER
99 101 2210 T ES/NER
99 101 S-M AR Eii EFE/NER
99 101 A 24 i) KEF/NER
99 101 KS INVETH A BN R
99 101 8 i Ith SLEF/INER
99 101 S, K 2Hmh N
99 101 I-R = EHfT MNEINERR
107 100 BA Fifg Hhom £BINER
107 100 hhvig Hhoth %HE*IJ\$J %
107 100 TH KFFHT PN fif] /N A
107 100 HM K FFHT "I‘J/J\"?'s*z
107 100 3 K FFHT LREHNER
107 100 K.D K FFHT T/ NER
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107 100 2321 tREiTh EE /2R
107 100 g AT KEF/NER
107 100 N.K % FiT BT a4/ N AR
107 100 1$#013E Nt ERREINER
107 100 140153 REFHh B HEINER
107 100 YA INET A BN
107 100 SH Bl F R/ DR
107 100 HS B LU /N
107 100 jyo4 R BEHE/NER
107 100 b e =iE ™ I B /INFEAR
107 100 YN R B B /IVEAE
107 100 MS R BHE
107 100 BN B #5:Th 1B/
107 100 T-Y i TR/
107 100 ER2FEE—%&F14 BE EHBE/INFR
107 100 2114 HET HEmR/NER
107 100 2203 HEh HEE/NER
107 100 OA 2HTh JB/NEEER
107 100 507 2Hm HE/NER
107 100 112 2Hm HE/NER
107 100 115 2Hm HE/NER
107 100 HS 2HTh XL BH/INVERR
107 100 AY 2Hm FRAEEINER
107 100 Y.M 2Hm FRAEEINER
107 100 YN 2Hm FRAEEINER
107 100 k—k f2Hm EINER
107 100 N, K 2Hm BINER
107 100 2215 f2Hm REEINER
107 100 K-R = [EHfT MNEINERR
107 100 T-S = [EHfT MNEINERR
143 99 TEH = Hhom EEINER
143 99 2317 24l ES/MER
143 99 2206 % i AT EEINE A
143 99 13H12% Nt R IR
143 99 140173 KEh «'ﬁfﬁ%ﬁ/]\fé's‘a
143 99 YH INET E2/NER
143 99 OM INET W%/ﬁ/]\"‘#'*
143 99 hr TG g E VRS
143 99 HR B LT BERE/NER
143 99 MT B LT BERE/DNER
143 99 N-M B LT ERFINFER
143 99 HEHM f2Hm HERE/NER
143 99 H.K 2Hm RRAE R /NER
143 99 T, R 2Hmh BINER
143 99 IH 2Hmh H 2 H/DNER
143 99 FM 2Hmh H 2 H/DNER
143 99 h.m 2Hmh TZREINFER
143 99 2128 2Hm HRE/NMNER
161 98 SY 7K EZFHT NENE
161 98 2108 T ES/NER
161 98 2323 T ES/NER
161 98 13007 PN i) FREINER
161 98 mh RIFTH KA /NFER
161 98 2103 HET HER/NER
161 98 508 2Hm HE/NER
161 98 KK, A 2HTh BINhER
161 98 2103 2Hm HREE/NMNER
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161 98 12 AR ETAT BN
161 98 12 kI =EHfE/NER
172 97 2315 tREITh EE/NER
172 97 H.R tREITh /N
172 97 SA INET AN R
172 97 mt BELL T AR/ NER
172 97 jyo13 ki B/
172 97 IR HBE f5Th B/
172 97 U-R B Tmh B TR/
172 97 2302 HEH HEBE/NMNER
172 97 201 2Hm FHKILNER
172 97 216 2Hm FHKILNER
172 97 HS i=Eadit] H2Z H/INER
172 97 2114 2Hm BEEMNFR
172 97 11 Ear 000 BEE/NER
185 96 TH EMl Hhom EEINER
185 96 Sl EF Hhoth EEINER
185 96 2118 AT ES/hE
185 96 2306 AT ES/hE
185 96 HE FEEIT KKEF/DNFR
185 96 =5 AT KEF/DNFR
185 96 H.K 5% FiT BT e TN 5
185 96 K-M INETH K /NERR
185 96 nk B LU AR/ INER
185 96 e —1t I FITA/NER
185 96 17 5 Th SN
185 96 409 2Hm HE/NER
185 96 101 2Hm HE/NER
185 96 117 2Hm HE/NER
185 96 T, S f2Hm BN
185 96 SK2 f2Hm H2Z H/NER
185 96 K-Y = [EHfT MNEINERR
185 96 N-M = [EHfT MNEINERR




